=

PEANEE F=AHMY D

o
Fu: R0 EN, FO OFLDO FHANMMAIY SE(AS=X/F6)
CHol: 2R CATHASASAY KR(ZSALSEEA) CERTL
! Ol 4t o4 HE S0 A
SAH-HY -G (3H) - HEAY - BES Ean P HD=2
= T/ =
o MB=E =Y 3,150,000 121128 +0.9 34,020
o HEICIUOE
1,500,000% =121 x12& =0 .9 16,200
o AIRAZIH(BBRZ S) 20,520,000 20,520
o FOESH XA 1,000,000& x1281+0.9 10,800
o dH 2= 3,000,000 1224 2 +0.9 32,400
o FOIZDAK(KE) 5,000,0008+421+0.9 18,000
o FHI2AY 20,000,000 %221 %09 36,000
o CAMMTES NE 89
315,000,000%+0 .9 283,500
403 RASHSTLOIH 6,571,560 0 6,571,560
iy 3,000,000
3,571,560
0l AXASHN2ES 6,571,560 0 6,571,560
= 3,000,000
3,571,560
2 0 A& 6,571,560 0 6,571,560
= 3,000,000
3,571,560
o WIHAIL W FUE XL
6,391,560,0002 6,391,560
o 3,000,000
3,391,560
o AWML NHSY
315,000,000% *0.9+0 0
o CCTV HEOADIES EHAL
200,000,000& =09 180,000
o CAMMRY(S+EER)
7,050,000,000% =0 0
BB EAIAAY XR(ZRHaE) 0 0 0
308 X XSHSOH 0 0 0
0 UASHZAHES 0 0 0
=01l 4t 0 0 0
o RIASGABLRES
800,000,000 +53H X = =0 0
=& SME TAMEREAE UH 4,935,000 350,000 4,585,000
2 0
Fas 2,100,000
2,835,000
308 XAHHSOIH 344,000 350,000 A 6,000
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S SAMAA =AW
HH: =0 S, =0 FTZo FHIAMMAMY Z=E(AMB=2X/FH)
chel: 22ld ZDAHMESSIAIY AR (FHAZSESH) (Et2:88)
SA NSO (3) - MEAY - BES (ggij) E(EJENLﬁ% RS2
308 MISHHSOH = 0
344,000
0l RASHHEAEES 344,000 350,000 26,000
=2 0
344,000
=0 & 344,000 350,000 26,000
= [
344,000
o CAMMERY 4,935,000,000% +0 0
= 0
0
o EFILCIHOEH =Y
2,500,000 121 x9& 0,94 21,150
o AMREZE 42  3,150,0008 12108 0. 94 26,649
< #FALCIUIOEH =%
1,500,000 121128 +0,94 16,920
o AIRZZIHI(B222 S)
20,000,000% =0,94 18,800
o HEIVMEE U AR EXE S
3,000,000 QI & 0,94 25,380
o EZSHELds 89 150,000,000 =0, 94 141,000
o FOHSEUSIALY 100, 107,000 0. 94 94,101
403 RASHSIH20E 4,591,000 0 4,581,000
Fay 2,100,000
2,491,000
01 MALSHAE2EE 4,581,000 0 4,581,000
iy 2,100,000
2,491,000
20l A 4,591,000 0 4,501,000
iy 2,100,000
2,491,000
o HPFTUSEHE A
950,000,000& <0 ,94 893,000
iy 392,000
i 501,000
o ZollHXHE =4 AE
1,370,000,0008 =0, 94 1,287,800
iy 422,000
865,800
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S A

SEAMSE FAHMY

A =0l A, XD FCO EHITHMAMY FH(AMSX/FH)
CI: DEIE CATHMESAZAY A (ZHAIHEHE ) (2 :HH
SA-EBL S (3N) . HEMNY - HaS (gij:j) a‘fﬁ;ﬁ,ﬂj‘—;ﬂ HDZE2
o HHAY FE(US0IE)
383,000,000& 0,94 360,020
Fay 253,000
107,020
< J|HEAlE AX =R A
1,981,042 ,553& +0,94 1,862,180
Fag 1,033,000
829,180
o E&EI|H 200,000,000% +0.94 188,000
ESEHET HIIE SAMESEAY 1A 4,935,000 350,000 4,585,000
= 0
Fax 2,100,000
2,835,000
308 NXEHSOH 631,000 350,000 281,000
= 0
631,000
0 HIHANBABES 631,000 350,000 281,000
= 0
631,000
&0l At 631,000 350,000 281,000
2 0
631,000
o DAHMREY 4,935,000,000& +0 0
= 0
0
o ZTACIUIO0EH =Y
2,500,000® x1C1~ 122 =0 94 28,200
o AMRZE =Y
3,150,0008 =121 %128 0,94 35,532
o MEBIACIHOE =%
1,500,000& 12! x128 «0 .94 16,920
o AI2E2IH(B3R8=2 S)
33,840,000 0,94 31,810
o FOIEOH AR 1,000,000% «12€+0.94 11,280
o dE Y= 3,000,0008 x12& «0.94 33,840
o Zx &g A& 283,636,000 «0,94 266,618
o Ax HE MUY 2
20,000,000 +0.94 18,800
o ZEHEds Y 150,000,000 0,04 141,000
o FOIAJAIAME FA
50,000,000 =0.84 47,000

ea
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M EAMYY MY

H - =
Fy: Fo

=

=

A EH H)

A, F0 Fo FHTWHEMY = (AZET/FH)
B 2BE SANASYEAIY NE(FY

=
40
[
Y

S EB . O (H) - MSEAY - BAS (ggj a(ﬁfam'of;"ﬁ" HRE2
403 XXSHHSAE0H 4,304,000 0 4,304,000
= 2,100,000
2,204,000
01 RXEHHA=E L 4,304,000 0 4,304,000
i 2,100,000
2,204,000
2 0l A 4,304,000 0 4,304,000
= 2,100,000
2,204,000
o WHAE 2EXOHY L dHEA
2,105,000,000& =094 1,878,700
= 865,000
1,013,700
o FUSETAA BEXMHY & SHEN
1,050,000,000& %0, 94 987,000
Py 482 000
505,000
o OIS MHEAME SHl S 2 AHH|
200,000,000& =0, 94 188,000
= 92,000
96,000
o MBI MR &I 100,000,000% +0.94 94,000
= 45,000
49,000
o OIS20lE 24=22Hl % SAHH]
200,000,000 =0, 94 188,000
= 92,000
96,000
o ARD ERIHE 2A0EH|
923,723,000% «0,94 868,300
2 424,000
444,300
i’é‘#% HETA XS S8 HAZ A S 400,000 200,000 200,000
403 ANXSHHSK=E0H 400,000 200,000 200,000
01 XAXNEHAXNEE X 400,000 200,000 200,000
20l A 400,000 200,000 200,000
o FBEHYHE AHAE ¥ U AR
400,000,000 400,000
HAET &3S TAMAAME A& 800,000 350,000 450,000
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